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<rdf>

<item>
<title>less is more</title>

<link>http://example.com/a</link>
g <descr|pt|on>_...</descr|pt|on>
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OCamlDuce > T{a[?

« OCaml + CDuce = OCamlDuce
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let rss = {{ <rdf>[
<item>|
<title>"less is more"

<link>"http://example.com/a"
<description>"...
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. fil: <foo attr1="a" attr2="b">[1 2 3]

sl b S rendl te e LG S LR L Rl

NTOYV—ZFPRARIRA K~




RSSDA:

type rdf = {{ <rdf>
[<item>|

<title>String
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[Int] I=Int list
[INt*] == Int list
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let items (rss : {{rdf}}) : {{[item*]}} =
match rss with
{<rdf>1tems}} -> items:;
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# items rss;;
- {{[ item* ]} =
HI <item>]

<title>[ 'less is more' |
<link>[ 'http://example.com/a’' |
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let trans (rss:{{rdf
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# trans rss;;
<body>[ <p>[ <a href=String>String |*



http://example.com/a
http://example.com/a
http://example.com/b
http://example.com/b

ZHAL JcXMLD 73

¢ tjj] o Ocamlduce.Print.print_xml%'ﬁz 5

string -> unit) -> Ocamlduce.Load.anyxml -> unit




